o
N~
o
(7]
o
L
5 _
mw
8 2
S
L 5
gt )
.MU
=)
Q
=
©
c
©
T

SmallRig




Handheld Kit for Canon EOS C70 3899

Thank you for purchasing SmallRig's product.
Warnings

- Please read this User Manual carefully.
- Please heed all warnings and follow all instructions in the owner's manual.

In the Box

@ Detachable Extended ®TopPlate x1
Baseplate x1

O,
©) 009 ©

@ =

@ side Plate ® Cable Clamp  x1 ® Baseplate x1

a8 2aag

@ 1/4"-20 Screw (long) x 2 (8)1/4"-20 Screw (short) x4 (® User Manual  x 1




Usage Steps Handheld Kit for Canon EOS C70 3899

O 1/ Detachable Extended Baseplate” Installation:

Install the baseplate® and the detachable extended baseplate® by
tightening the two 1/4"-20 screws”




o)}
o)}
@
™
o
=~
(&}
(%2}
o
w

c

o

c

@
[}
Ke]
=
X
o

[
<
he]

c

[}
T

Attach to the camera bottom by tightening the two 1/4"-20 screws.

Baseplate" Installation:

Usage Step




o)
Jor
5]
™
o
~
&)
%)
o
m
c
[}
c
@
O
ks
=
7
Ee]
[}
<
s}
c
<
T

Attach the side plate” and baseplate” by tightening the two

Side Plate” Installation:
1/4"-20 screws .

Usage Step




Usage Steps Handheld Kit for Canon EOS C70 3899

04 Top Plate” Installation:
1. Tightening 1/4"-20 screw after locating the top plate” with the hot shoe of the
camera.

2. Install the side plate* and top plate” by tightening the two 1/4"-20 screws .




o
o]
©
s}
o
~
(&}
1%}
o
i

c

]

c

]
[}
S
=
X
i)

[
<
hs]

c

]
T

Usage Steps \




Handheld Kit for Canon EOS C70 3899

1. Please remove the extended baseplate” before mounting into DJI RS 2 / RSC 2.
2. The Arca-Swiss baseplate® supports DJI RS 2 / RSC 2 stabilizer.




&+
il
#
banl
wh
o
N~
)
[72]
o
1]
KV L)
qm
#H

SmallRig




fiE8E EOS CT0 FHFEHE 3899

FBHEME SmallRig 7= &2

BERE

- ERAFTRZE, BFAREEPFH.
EERMAESRTIEEERAPFRRNAEES

QERER x1 @ TR x1

O O

© O ©

i

@MitR x1 E &k x1 © iR x1

88 2288

@1/4"-20 B4 (&) x2 ®1/4"-20 8% (52) x4 QABRFH <1




fEBE EOS CT0 FHEM 3899

=
&
=
'
&
i:4
o
g
g
u
B8
o
R
)
=
g
2l
)

e
zmx
1
&
14
s}

O’I/




EBE EOS CT0 FHEM 3899

o
=
H0
sy
=
m
=
HX
w
H
3
e
<]
o
i
X
1=
E
g
et
'

AR 25

0%/




/4

LD

EBE EOS CT0 FHEM 3899

i
®
=
He
=
w
g

E

,ﬁ,
B8
o
§
)
1=
B
I
b2
)

iR 2%

03/




BIOETR EBE EOS CT0 FHEM 3899

04/ TR %4 1. A%Imjm&mawﬁfwg%, $RUR1/47-20824
2. BRI /4"- 2088 44" EEREMIAR ” FOTRAR




ERE EOS CT0 FHEM 3899




EBE EOS CT0 FHEM 3899

1. fEAIDJIRS 2 / RSC 24272 9881, FRSTHEVERIEIR ©
2. AR BT, B13ADJIRS 2/ RSC 282 2o




